A2

A ALK B’ F
T E MM
) e (BHAZ 4,391,200
THEF R3#EX T 5975 TR e -
(BlA )
T H 4 | beE (559 k) TF
AL ZE Ll ik 3,992,000
AALA H SF3EETH 28 H(K)
AL s e ARG ] BEAT A% -
Sy THE B L DY
MNALIRERE 3,700,000 B 7 158 B 370,000
FATAE: ¥ = 4 25 10m] #52[a] R[] k=
S 3,700,000 L
O | BR) A H H 3,830,000
O | W (BR) thd = T 3,780,000
=5 AT VR A=A (BR) FEIE
O [HEHEAER () KR
wWH| ANF = N #HEE ¥EHE 5% A Loz m F 435




A2

A ALK B’ F
¥ E ik
= S e o (BiiA ) 3,903,900
I N E)‘h =
=R R31E% T 5107 TR e -
(BlA )
T # 4 | beE (5510%5) T8
AL ZE Ll ik 3,549,000
AALA H SF3EETH 28 H(K)
AL s e ARG ] BEAT A% -
Sy THE B L DY
MNALIRERE 3,360,000 B 7 158 B 336,000
FATAE: ¥ = 4 25 10m] #52[a] R[] k=
R FEIE
O | BR) A H H 3,400,000
O | W (BR) thd = T 3,360,000 L
=5 AT VR A=A (BR) FEIE
O [HEHEAER () 3,495,000
wWH| ANF = N #HEE ¥EHE 5% A Loz m F 3FE




